Year 2 Maths Activity Mat

Section 1

A bride has 4 red roses and 5 yellow
roses in her bouquet. How many roses
will she have altogether?

~

Section 2

If the letter A is the same as 5,
can you work out what the letter B
equals?

Section 3

Put these numbers on the number line:

5 25 35
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2+4A=B | | | | |
B - 0 10 20 30 40
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Section 4 Section 6 Section 7 Section 8
There are 10 cups on a shelf. Half of Jane has 12 beads. She Dan will have his tea in 1 hour’s Put the correct signin: - + =
them are pink. How many of them gives half of them to time. What time will that be?
are not pink? Naz. Then she gives 3 to
Meg. How many beads 3 =
does she have left?
q -_—
Section 5
Can you show 2 different ways to
make 18p? 8 =
10 50
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Year 2 Maths Activity Mat: 6

Answers
a Ny
Section 1 Section 2 Section 3
A bride has 4 red roses and 5 yellow If the letter A is the same as 5, Put these numbers on the number line:
roses in her bouquet. How many roses can you work out what the letter B
will she have altogether? equals? 5 25 35
2+A=B o b |
1 2 2 3 4
q B - . 0 5 0 0 5 0 35 0
" _J
a 3 a N
Section 4 Section 6 Section 7 Section 8
There are 10 cups on a shelf. Half of Jane has 12 beads. She Dan will have his tea in 1 hour’s Put the correct signin: - + =
them are pink. How many of them gives half of them to time. What time will that be?
are not pink? Naz. Then she gives 3 to _
Meg. How many beads 3 + 5 = 8
5 does she have left?
q - 4 =5
Section 5
Can you show 2 different ways to
make 18p? 8| + T =9
2 correct ways to make 18p.
Eqg. 10 5 2 1
g- 10p+op+2sp+ip 10 x 5| = |50
10p +5p+1p+1p+1p 3 5:00
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Year 2 Maths Activity Mat

Section 1

There are 4 bridesmaids at a
wedding. Each bridesmaid needs 5
roses in their bouquet. How many
roses will there be altogether?

Section 2
If A equals 10, what is B?

5+A=B

Section 3

Put these numbers on the number line:

35 50 75 90

Section 6

Jane has 20 beads. She
gives half of them to
Naz. Then she gives 8 to
Meg. How many beads
does she have left?

Section 4

There are 16 cups on a shelf. Half of
them are pink. How many of them
are not pink?

Section 5

Can you show 2 different ways to
make 28p?

20 40 60 80 100

Section 7 Section 8
Dan will go to bed at 9.30. How Put the correct signin: x + =+
long is it until his bedtime?

q 4 = 13

3 5 = 15

1 9 = 10

10 | 5 = 2
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Year 2 Maths Activity Mat: 6
Answers

Section 1

There are 4 bridesmaids at a
wedding. Each bridesmaid needs 5
roses in their bouquet. How many
roses will there be altogether?

20

Section 2
If A equals 10, what is B?

5+A=B

15

Section 4

There are 16 cups on a shelf. Half of
them are pink. How many of them
are not pink?

Section 5

Can you show 2 different ways to
make 28p?

2 correct ways to make 28p.
Eg. 20p + 5p + 2p + 1p
10p + 10p + 2p + 2p + 2p + 2p
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Section 6

Jane has 20 beads. She
gives half of them to
Naz. Then she gives 8 to
Meg. How many beads
does she have left?

Section 7

Dan will go to bed at 9.30. How
long is it until his bedtime?

Section 3

Put these numbers on the number line:

35 50 75 90

Section 8

Put the correct signin: x + =+

4 = 13

2 hours

10 +|5=2

w**



Year 2 Maths Activity Mat

Section 1

If there are 4 bridesmaids at a
wedding, and 20 roses to share out
equally, how many roses will each

Section 2
If A equals 20, what is B?

Section 3

Put these numbers on the number line:

55 70 85 110
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bridesmaid have? 15+A=8B
I I I I |
- 40 60 80 100 120
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Section 4 Section 6 Section 7 Section 8
There are 26 cups on a shelf. Half of Jane has 120 beads. Dan got out of bed an hour ago. Put the correct sign in: +
them are pink. How many of them She gives half of them What time did he get up?
are not pink? to Naz. Then she gives ~
20 to Meg. How many 8 5 = 40
beads does she have left?
~ 19 4 = 23
Section 5
Can you show 2 different ways to
make £1.367 60 10 = 6
10 | 10 = 1
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Year 2 Maths Activity Mat: 6

Answers
( )
Section 1 Section 2 Section 3
If there are 4 bridesmaids at a If A equals 20, what is B? Put these numbers on the number line:
wedding, and 20 roses to share out
equally, how many roses will each 55 70 85 110
bridesmaid have? 15+A=8B
| [ | | | |
| — 1 1 1 1
40 55 60 70 80 100 110 120
5 B= 35
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Section 4 Section 6 Section 7 Section 8
There are 26 cups on a shelf. Half of Jane has 120 beads. Dan got out of bed an hour ago. Put the correct signin: x + =+
them are pink. How many of them She gives half of them What time did he get up?
are not pink? to Naz. Then she gives ~
20 to Meg. How many 8l x |5 = 40
13 beads does she have left?
” 19 + |4 = 23
Section 5
Can you show 2 different ways to
make £1.36? 60 = |10 = 6
2 correct ways to make £1.36
E.g. £1+20p + 10p + 5p + 1p
£1 4 10p + 10p + 10p + 5p + 1p 40 7:15 101 + |10 = 1
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